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PART - A (10X2=20 Marks)

Answers to each of the questions should not exceed 50 words
Each question carries 2 marks.

Question No. 1 to 6 is common to all.

Answer any Five questions

1. What is the relationship between growth and development?
aueniT&Fd oBmIb (erCarBmid SeuBmiBalenL Guiwimer QFHTLTY wmg?

2. What are the dimensions of creativity according to Guilford and Torrance?
&eo@uT(® BEID LmyeTervenien mBmIlIg HbHHHIHmeMen LisvCaim Comemmbidbe Wimeneu?

3. What did Rakhi and her Grandpa do in the Winter evenings?
4. What light does Chief Seathl’s letter throw on nature?

5. MBS BTHH6T Demeuuled QuUflwmmesd iefldaiul L almgl sleier? Sisuel bl
SIeMBBLILLL HBEHTEOT SHTT6U0ID  6T601601 7

6. “‘Copprenysd CFmIGHHele HBOFUIMS FABHBHHHM sleieid LT 60 6aufl G 1bELIBI6T6T
LTL6D LTIQUISIENTSH SnlIb.

FOR SCIENCE STUDENTS ONLY
Answer any Five questions

7. If 3 =1.732, find the approximate value of, Y3
3 =1.732¢afls0 Y2 @ Gamymw @Iy ST,
2 _5 _ 1
8. Solve: » x 9
.2 5 _ 1
e~ x 9

9. Define (i) Oscillation (ii) Amplitude
QUMIWNIBES : (1) Demeve)] (1) eliFsH



10.

1.

12.

13.

14.

15.

16.

17.

18.

19.

20.

Mention the differneces between concave mirror and convex mirror.
Gl 9, G g Reupplinslent Cuiujsiten CaumiLTGaemen GG Sb.

Distinguish between monocot plants and dicot plants.
RmalsHHmev LBBID BHmelsHHeme HTeufmisemsn CoumILI(BaHHis.

What is deforestation?
HTHH6T SN HHEO 6T6AMBT6L 616016017

FOR ARTS STUDENTS ONLY
Answer any Five questions

Lists the occupations of Harappans.
emriIUT 10HEH6M6 QHTIHle0BM6NT LI 19UIed(Hb.

What was the impact of Bhakti cult in South India?
OpaaibHWLTEND LHd RUIbHBHH HTHHD WITH?

What is meant by ‘Solar System’?
GMuld GEHWULD 6T6IMTed 616016017

Differentiate Weather and Climate.
QUTETEMEVEMUILID, BHTeVHEMEVMWIUID CouBILBHHIH.

How is the Panchayat union formed?
oayrl & eeiWD 6TeIeUTE SIMLHSBILIGSBSHI?

How does the village council get its revenue?
EITD FNLIBHT QIHAUTUI 6TIITH &lenL_SHamEHl?

PART - B (6X5=30 marks)

Answers to each of the questions should not exceed 200 words.
Each question carries 5 marks.
Question No. 19 to 22 is common to all.

Answer any Three questions

What are the educational programmes available for gifted children?
WHBH e 101bd  DTEMTITHEHHBTEN Heoaluluisy CFWLIBLTHSET Wmene?

What is imitational learning? Explain its components.

utTdEl etumplled HMm|ed 6T6IBTE0 61601607 DIH6 2 I FnBIdhene 66N @b ?



21.

22.

23.

24.

25.

26.

27.

28.

29.

30.

‘What does the Poet dream in the Poem “Where the mind is without fear”?

Ml Cuml seTseie HODd CeHTentgener 61(BHHIMNTHSb.

FOR SCIENCE STUDENTS ONLY
Answer any Three questions

In the given figure, ABCD is a square of side 14 cm, find the area of the
shaded portion.

CaTBHSBILLB6T6n LLSHPHe0 FHITID ABCD et Ubd ene] 14 Q.10
BIpedl L U@ uler UgliLleneneld SHTemis.

The sum of two numbers is 2490. If 6.5% of one number is equal to 8.5% of the other, find

the numbers.

H

Bwm erevisellel awmBHev 2490. @ eTewienien 6.5 FHIHWD LOBOBTH 6TevTemiler 8.5

FHNHHHB@ FIOID 6lefle0, SIS 6T6RIHENED  HTEMID.

How does solid convert into liquid form when heated?

CeuuuGsHHeer Curgl S LOUTHET eleleuT®l SFeIlIGLITHENTS OTNBISBSHI?

Explain Grassland Ecosystem.
LsoLeueuienr o _emrensF sFmidedsnul eilend@EHs.

FOR ARTS STUDENTS ONLY
Answer any Three questions

What are the causes of Gurkha war?
FniTbBT CUTHEHHBTET HTTEIBIG6IT ULITenel?

Explain the factors that determine agriculture.
Couenmemt OFHmiflemen MHiTewIUNBHGHD HTTewlBemer  6)l6md @ b.

Explain how are the industries classified according to their raw materials.
epeoll QUITHLBeMET QUL LTSS OHTewI(h CHTIIBFTENE0EH6T 6TelUTNH)
QUENBLILIBHSLILL ([H6TeNH] 6ITLINS 61T G .

What are the factors that affect National Integration?
Cardlw QmEMLLILITL 1I9en6T LUTHHGD SHTYeniaeT wimenel?



PART - C (2X15=30 Marks)
Answers to each of the questions should not exceed 600 words.
Each question carries 15 marks.
Question No. 31 is common to all.

31.(a) EBBlwIEID, GBBIWeISTD WBBID PBBIWLIETD Eenelsemen alendsadd.
(or)
(b) What are the problems faced by Johnny, a dyslexic child?
How should such children be treated in the classroom?

FOR SCIENCE STUDENTS ONLY

32. (a) (i) An altitude of a triangle is five-thirds the length of its corresponding base. If the altitude

was increased by 4 cm and the base be decreased by 2 cm, the area of the triangle would
remain the same. Find the base and the altitude of the triangle.
QM (PHCHTMMHHN HHHIWTLD DHW FMTHH DQLILSBHHIHE MHHEV PT3 LIMKISTGLD.
GHBWTSHFHeT Hemd 4 QF.15. SFHefbasliul (B BBID DHeT  gliudbsd 2 CF.108.
GOBHBILL L LN681, DDUPHCHTeMIHH 6  LJLILIGN6)]| OTBIH 6160160, DD BT 6w d 560
SYLILSBHHHET HND LOBBID GHHHIWTHIH6N HED  Hewrda (Hb.

- ‘ (i) Construct a trapezium ABCD in which

ABIIDC AB=10cm,BC=5cm, AC=8 cmand CD=6cm.

AB D AB =10 Gg.15, BC =5 Qg.5, AC = 8 GQ&.15, wimib CD = 6 GF.15. Sieneysei
Q&mewiL. ABCD  elati3 Fllousld 6u6nTHb.

(or)

32. (b)(i) How is Petroleum formed? What is meant by fractional distillation? Mention the
components which are separated by fractional distillation of petroleum with their uses.
QUL Brmedlwid  eteueTR 2 HUTHBEHI?  LeienbBTUIFS  6MIQHHEO(LPHM  6T163IBT60 616360 ?
UeitenbsTUIFS  augHHe0  (Wpempulenmed  SHedLbGWD  UGSHUOUTHL Senenujld,  DiH6i
Uwietsememuid  GBILLTG .
(i1) Explain flight in birds
LBenaUHT LBHGWD (pewmullens ailend@b.

FOR ARTS STUDENTS ONLY

33. (a) Explain the causes of vellore mutiny.
Gougor Lyl ldbmmen HITenimibsne  6lemdh@Edb.
(or)
(b) Describe the different layers of atmosphere with a neat sketch.
QUSTILDEIIL_60HH6T LIsVERIBI DIBHHEHHMENT LILID UeDIHEHI eNl6mdhEHdb.



